
   

 

 

 

 

 

jrk vz;fis rjtPjkhf fhl;Ljy;. 

0.4    0.27    2.7  

=
4

10
    =

27

100
    =

27

10
    

 =
4×10

10×10
   = 27%   =

27×10

10×10
   

 =
40

100
        =

270

100
    

 = 40%       = 270% 

100 My; ngUf;Ftjd; %yk; rjtPjj;ij ngwy; 

  
3

4
   

17

20
   0.7   1.43   

  
3

4
× 100  

17

20
× 100  0.7 × 100  1.43 × 100  

  
300

4
   

1700

20
   70   143   

  75%   85%   70%   143% 

01' gpd;dkhf vOjtjd; %yk; rjPjkhf fhl;Lf. 

 i 0.47  ii 0.7  iii 1.25  iv 3.4  v   0.345 

02' 100 My; ngUf;Ftjd; %yk; rjtPjkhf fhl;Lf. 

 i 0.8  ii 0.08  iii 2.3  iv 2.03   

 v 
4

5
  vi 

1

10
  v 2

1

4
  vi 

7

200
 

03' fle;j tUlk; eilg;ngw;w ghlrhiy ehl;fspy; mky; 0.57 ehl;fSk;, fky;  
3

5
 ehl;fSk;   

     tUif je;Js;sdu;.  rjtPjk; gw;wpa mwpitf;nfhz;L mjpf ehl;fs; ghlrhiyf;F  
     tUifje;jtu; ahu; vd;gijf; fhz;f. 

04' Fwpj;j tq;fp xd;Wf;F tUif je;jtu;fspy; 
1

2
 gq;fpdu; gzj;ij itg;gpypltjw;Fk; 0.35  

            gFjpapdu; gzj;ij kPsngWtjw;Fk;  15% fld; ngw tpd;dg;gjpw;Fk; ge;jpUe;jdu;. mtu;fspy;  
     mjpfkhNdhu; vt;tplak; njhlu;ghf tUif je;jdu; vd;gij rjtPj mwpitf; nfhz;L   
     fhz;f. 

05' epky; nkhj;j khj tUkhdj;jpy;  
18

25
  njhopy; %yKk; 15% tpahghuj;jpd; %yKk; 0.13   

 tptrhaj;jpd; %yKk; ngWfpd;whu;. mtu; vjd; %yk; mjpf tUkhdk; ngWfpd;whu; vd;gij    
     rjtPj mwpitf; nfhz;L fhz;f. 
 

rgufKt khfhz fy;tpj; jpizf;fsk; - thuhe;j ghlrhiy 

juk; :- fzpjk; 

juk; - 7 

3k; jtiz , 04 Mk; thuk; 


